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Fractions Introduction

1. For each shape, say what fraction has been shaded :-

(a) % (b) <§§\/ (c) (d)

2. Simplify each of the following fractions :-
7 3

14 11
(a) E (b) o (c) » (d) p
12 6 2b 27
(e) 28 (f) ) (9) e (h) 8
3. Find :-
(a) % of 66 (b) % of 48 (¢) % of 27 (d) 2 of 616



Fractions Solutions
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L.

Fractions Add/Subtract

Express each sum as a fraction 1n 1ts simplest form.
1 3 2 1 3 1
Q) —+= Z+— ) +- d
(a) e () T (©) 173 ()
1 2 1 1 3 1
e —+- —4- Z4-
(e) 573 ® 3t 8 P ()

3. Express each difference as a fraction 1n tts simplest form.

31 1 1] 5 2

W -y 0 ﬁ\ © 5 0
11 2 1 1 2 1

® >3 0 ;7 @ 7 0
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ad | ke



Fractions Add/Subtract

4. Express each sum as a fraction 1n tts stmplest form

I 1 [ 3 (I
) 1-+1- 0 1-41- d
(2) o (b) 4 (c) i (d)
5| ) 3 3 3
g) I-+2- §—+)- =41
(e) T 0] T 8 e (h)
6.  Express each difference as a fraction 1n tts simplest form
31 7 1 i 1
q)  3--1- h—-4- o) 21--1- d
W o 06 3\ © 20
43 3 ) ||
g)  S--1- h—-1- 4--1-
© § 4 0 12 6 ® 307 W
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Fractions Solutions 1

4 1 7 5 7
(a) 3 (b) 3 (c) 3 (d) P (&) - () 3
17 5
(g) 20 (h) B
1 1 1 1 1 7
(a) E (h) E (c) E (d) E (e) Z (H E
5 1
(g) T ) 10
53 1 5 1 7 5
(a) 23 (b) 33 (c) 3§ (d) 55 (e) Sg (H BE
1 5
hl 5~
® 35 @ " 24
1 13 11 1 1 1
a 2— 21— (c 1— (d - e 4— 5—
(a) y (b) ¥ (€) m (d) y (e) m (f) 5
© = ® 2-



Fractions Multiply/Divide

1. Express each product as a fraction 1n 1ts simplest form:

4 1 3 1 4 2 1
@) —xg b)) -x— © —xz @ —x-
47 3 10 27 3 8
41 6 1 3 10 4
® ox— ® -x= ) Ix— h) Ix—
5 16 D 73 € 5 21 21
2. Express each product as a fraction 1n its simplest form:
1 .1 1 .12 1 .1 3,12
a 1—=1- 1—x1— [ 22— d 1—=1—
@ 4 3 ®) 4 3 © 2 12 @ 4 3
1 .1 1 .2 1 1 3,1
e 3—x1= 1-=2— l—=2— 3—x1=
© 4 5 ® 3 3 ® 15 2 ® 4 5
3. Express as a single fraction:
1 1 2 2 4 3 3 2
—_—-— —_——-— —_—-— {l —_—-—
@ S+ ® 2| © <3 @ -7
© 5 5 ( 5 1 ) 2 (h) 11
12 3 D 9 3 ® 5 10 14
42 L2 4 2420 6 9
@ o3 @ 575 ® o5 O 5y



Fractions Solutions 2
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1.

Coordinates

Write down the capital letter representing
each point and put its coordinates next to it.

10
9
For example :- C(5, 2). 8
7
o £
]
4 |34
=]
3 ‘
2 )
! B
012345678090
YA
1;] m v a Which point has coordinates :-
8 |+~ 0 (7.6) (i) (0.4
7 W (i) (3, 3) (iv)y (9.4)7
] *
i - 5 T b Write down the coordinates of :-
3 Q i N (i) M
? . S (i) S (iv) R.
01 2345678 507X
¢ Four of the points can be joined to form a rectangle.
(i) Which four points ? (ii) Worite down their coordinates.
a Draw a coordinate grid like the one in question 2 on squared paper.
Make the horizontal and vertical axes both go up from O to 10.
b Mark with a cross the following six points :-
C(3,2) D(7.2) E(10,5) F(7.8) &(3,8) H(O,5).
¢ JoinCtoD to EtoF to 6 to H and back to C.
d What shape have you formed 7

>

.



Coordinates Solutions

Exercize 1

1. A(1.4) B(2.0) C(5.2) D(9.3)
E(7.6) F(10,9). &(4.9) H(0.6).
2a ()W (ii)P (i) Q (iv) T
b (i} (2.8) (ii} (3.9) (i) (10.1) (iv) (7.1)
¢ (i) MUTV
(i) M(5.8) U(5.4) T(3.4) V(3.9)
3. a/b/c - Check Drawing
d Hexagon



Coordinates- all 4 Quadrants

wr S
Write down the coordinates of :- L g
3
a each point shown in the diagram. A(-3. 4) B
4
b the point on the yaxis. ; .'Aﬁ-',"
¢ all the points with the of .;5:1'{'*15
same x coordinate. 2 ES,Q?TI"
d all the points with the c 1
same y coordinate. - -
3 -2 a 2 3 4 x
e the point with the same -1 E*
x and y coordinates. 2
f the fourth vertex, P of the :}x 3
rectangle DAEP. .
Copy the same axes grid from question L
b Plot the points P(2, 3), Q(4,0), R(2,-3), 5(-2,-3), T(-4,0).
¢ Plot the point U, where PQQRSTU are the vertices of a hexagon.
Look at the diagram shown. Y A
a Write down the coordinates 3
of R, Sand T. 4
b Reflect RST over the x-axis 3 >
and write down the coordinates 5
of RS'T. .
¢ Reflect R'S'T over the y-axis : T
and write down the coordinates 3 2 10 > 3 :‘
of R"S"T" -1
2
The vertices of a triangle reflected 3
over the y-axis and then the x-axis ]
are A"(1, 5), B(7, 0) and C"(2, 2). -4

State the coordinates of the
original triangle ABC.




Coordinates- all 4 Quadrants
Solutions

Exercize 1 - Coordinates in 4 Quadrants

1. a A(-3.4). B(2.4). C(4.-3). b(-3.-3).,
E(3.-1). F(0.-4). &6(-2.0)

b F c A&D d A4B, B&C
e D f p{-2.-3)
2. a/b See diagram c U(-2.3)

3 a R(-14). 5(4.3). T(2.1)

b see diagram - R(-1.-4). 5'(4.-3). T(2.-1)

¢ see diogram - R"(1.-4), 5°(-4.-3), T"(-2.-1)
4. A(-1.-5). B(-7.0). c(-2.-2)



Percentages

Exercise 6

1. Write down the simplest fraction for each of the following percentages :-
(a) 75% (b) 30% (c) 80% (d) 70%
(¢) 335% (f) 665% (g) 40% (h) 30%

2. Find without a calculator :-

(a) 50% of £9 (b) 332% of 360 metres (c) 80% of 90€
(d) 25% of 300p (e) 60% of 240 p (f) 66%% of 121 kg
() 70% of 520 cm (h) 75% of 9600 kg (i) 75% of £440

(j) 30% of 3100 km (k) 75% of £5 () 665% of 12kg



-2

Percentages Solutions

. d
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80 kg
030 km

L

=N 1= T =

g~ o

T2€
364 cm
£3-75

d

h

d
h
1

A
10
3
10

75p
7200 kg
0-8 kg



Algebra

Exercise 1

1. Copy and simplify :-

(a) 8x+4x (b) 3y-2y (¢) 9h+h

(d) 12p-p (e) Bx+3x+4x (f) Ow+5Bw+w
(g) c+cte (h) 8k+5k- 10k (i) 15g+9g-19¢
(j) 83d+22d-91d (k) 20z- 172+ 2 () 3th-25h- 6h

Exercise 3

1. Ifaz4 and b= 5, find the value of -
(a) a+b (b) a-b (¢) ab (d) 5a-3b
(e) 8b+4 (i) 7a+2 (j) 4xy=*20 (k) xy=40



Algebra

L. Copy each equation and solve -

(a) x+4:=7 (b) y+2:12
(d) p-4:6 () 5-x=13
(g) c-12:16 (h) 14-¢=0
(j) 8+x=7 (k) z-3=-1

2. Copyundsimplify -
(a) 2a (b) 3y =15
(d)12p -0 (e) Bx =75
(g) 1z=121 (h) 8k = 864
(j) 10k=3000 (k) 20z = 6000

Exercise 3

1. Find the value of each variable by solving the equations :-
(@) 2x+4:= (b) 3y+1=13
(d) 8p-1=23 (e) 2x-7:=13
(g) 7e-12:=9 (h) 14-5¢=4
(j) 8+4x=0 (k) 12z-3:=57

L

c
f

oy +4:9
9+2w=15
15-4ez=-1
31-2a=-2

— e e
pe
b )



Algebra

2. Solve these equations by removing an appropriate number of x's from each side first -
(a) 4x+1=z2x+7 (b) 3x+5:=x+1b (c) bx+7=bx+13
(d) 10x-6=7x+9 (e) Bx-1z2x+11 (f) bx-1=x+19
(9) 12x-4=8x+24 (h) 10x-1=8x+6 (i) dx+4=x+12
(j) 6x+3=2x+10 (k) 9x-2=4x+19 () 7x-T=x+1

3. These equations look a little “different”.  Solve them in the same way as shown above :-
(a) 3x=2x+6 (b) Bx=x+20 (¢) 7x=4x+30
(d) 9x=8x+6 (e) 3xzx+13 (f) Bx-12=3x
(9) 4x-156=x (h) 3x+6:=x (i) 10x-21=7x



Algebra Solutions

l.a 12x
e 12x

1 3¢

l.a 9
e 10

-2
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Algebra Solutions
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